Honors Math 3
Finding Roots of Polynomials

List all possible rational roots.

1. 23—224+32-3=0 9. £3-10z%2+172—-8=0
3. gt4rd—-10z% -4z +24=0 4, 23 -T22+T2-2=0
5. bBgd—9z2—17:-3=0 6. 3zt+1lzd—a2?+11z—4=0
7. 3zt — 253 +112% - 252 4+-8=0 8 3z +29a% — 72’ +292-10=0
State the number of positive and negative real roots.
9. f(@)=2a®—20>+2—3 10. flz)=2o® -4z +z+2
1. glz)=4a® +52% +22 -6 12. h(z)=2z°+3c% -4z -1
13. h(z) =2z + 52> -4z —5 : 14. f(z)=3a%—22" +6z—1
15. h(z) = 32% +2 | 16. g(z)=2® —2x* -3z
Find the number of possible real and imaginary roots.
17. g(z) = 2a° +3z* — 8z +3 3 18. g(z) = 623 —11z® — 24z +9
) 19. h(z) =2z 52> +20—4 2. f(a)=>52%+62>—z—1
l Find all roots.
21, 28 —4x2-3z+18=0 2. 28—22—-82+12=0
23. z3—5x?+4z—-20=0 24, 23 +922+23z+15=0
25. z3+22—-22-2=0 2. 23—22—142+24=0
27. #8 —4z?—Tz+10=0 28. 23-22-2z+8=0
29. 3 —192—-30=0 30. 2z°+522+6x+2=0
31. 323 —5z2+14z-8=0 32, ¥ -4z’ -2+4=0
33. g8 —20+4=0 34, o8 —5a%—2+5=0
35. 23 +622+122+8=0 36. 28 —322+2—-3=0
2. 23 + 522 +3z-34=0 38. 28 —8x+32=0
59, gzt 4gd — 202 —122+9=0 40. z*+82%+242* +322+16=0
4. ot —4od 62 —4z+1=0 42, #t-23—1122 -5z +4=0
43. z*+1322+36=0 4. 24 4+22-20=0
45. Azt +12¢3+1922 —3z-5=0 46. 203+ 522 +6z+2=0
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